R B TR RENFE IS (B RHI5) AR ST 58 308 (&)
Frx

= g & B &t E i = & b fE z B £ B 8

() ART=®) (M) (M) (M) (kg)

=LZ\CA 21.4 BERE 17.9 — 432 — 15
[CALA 18.8 = I 5.6 — 1,080 — 0] A M
:‘li‘i 2.9 BERE 2.6 — 3,780 — 0] A L
ES) T & 0.2 - 4,212 — 0] A 2M
[E<E0 17.5 N 3.1 1,404 324 324 15 vay 6
HTE 1.1 BERE 0.4 1,728 1,512 1,296 4f A M
CEDH 47 BERE 25 1,836 1,404 1,296 4f A M
Fry 86.6 BERE 43.7 — 49 — 1
Fry = I 419 324 162 162 0] A 3L
IE5NAZES 1.9 2 [ 1.3 3,240 1,620 1,620 6] A L
hE 6.6 BERE 43 1,296 1,296 1,188 3 A L
_hE 1.7 = B 1.2 1,944 1,728 1,296 3 M
_hE 2 [ 0.4 1,080 — 972 3 L
125 2.7 =0 0.8 2,160 1,890 1,620 5] vay
+)L)— 1.1 2 [ 0.5 3,240 — 2,700 0] A L
FRINGHR 0.5 N 0.2 — 140 — 0.1 vay S
Hh)o257— 0.1 EE X 0.1 1,728 1,728 864 6] A 6
Jowal)— 14.8
LARZR 21.4 E & 7.1 972 702 648 10 12
FoTHA 0.8 BRE 0.5 1512 1,296 1,080 4f A L
=p5Y 15.0 BRE 11.2 2,160 1,836 1,620 5/ A L
=p5Y B K 1.3 2,700 1,728 1,728 5] A M
ANESSED) 45 BRE 3.2 2,700 — 1,080 0] A 5
He 45 B X 2.8 1,836 1,728 1,620 5] A L
Al =I5 1.3 - 1,620 — 5] A 3L
<k 16.7 N 6.9 972 — 756 4l vay 24
el X & 5.9 1,296 — 1,080 4 A 16
I=kTh 8.0 BRE 7.0 108 76 76 02 A M
==kThk S 0.6 1,944 1,728 1,620 3 vay PED)
F—<> 13.1 BERE 15 5,184 2,268 2,268 7.8 A M
ES5HACL 2.6 £ B 1.1 1,814 — 1,555 5 A 3L
T35 0.4 BRE 0.4 135 119 119 008] A M
IZH5Y 1.1 BRE 0.8 2,160 1,188 1,188 3l A L
SPVAITFA 1.1 BRE 1.1 1,026 648 540 2l A M
SPZAES 0.5 N 0.4 1,404 — 1,296 1 A
E—X
ZHEDH
MrAL& 2.6 E X 2.2 2,268 2,106 2,106 5 LL
IEhLs 15.1 E 5 12.3 1,620 — 1512 0] A 3L
IEhi s E 5 1,944 — 1,728 0] A L
[ECTRYNS BRE 2.8 648 - 540 10 4L
[ECTRYNS BRE - 594 - 10 L
[ECTRYNS BRE — 1,296 - 0] A L
[ECTRYNS BRE — 1,080 - 0] A LL
=&V 0.1 th F 0.1 3,996 — 3,888 0] A 3L
B 0.9 "5 & 0.6 - 1,620 — 10 ¢ L
f=FEh&E 427 JtigE - - — PR
=Fh&E B 29.2 3,024 — 2,808 20 Va9 M
IZAIZK 0.3
5oELD 1.1 BRE 1.1 — 4320 — 10 M
ELLV=T 1.6 BRE 0.1 — 119 — 01| M L
HELLV=IT =l 0.9 97 86 59 0.1 A L
ZDEET 4.0 BE X 0.6 32 26 24 0.1 A
LHL 1.4 2 [ 1.4 97 70 65 0.2
ESES T 345.5
B=
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() ATT=®) (M) (M) (M) (kg)

BMAMAET 0.7
INDRHINA 0.7
LEY 0.6 TA)H 0.6 7,560 5,616 5,400 17 115
INLUYVT 1.0 TA)H 1.0 6,912 3,240 2,160 17 1133
L7y 0.1 T A)H - 3,240 — 15 32
YATE 3.7
PErE=IY 0.6 5 & 0.6 5,670 4,860 4,644 10
AL 25 5 & 25 - 5,832 - 10{ 74v1 36
Uh 0.1 ERE 0.1 - 3,024 — 3 L
3HET 0.4
3% 0.4 BRE 0.1 — 486 — 045 A LL
58 1.0 2 [ 0.4 — 4320 — 5/ A L
SESE 0.3
7‘-‘:3r717 0.1 E iR - 4,320 — 2| 7hva1 LL
7‘{3@17 E R - 4320 — 2| 7hva L
TS59IF E R - 4320 — 2| 7hva M
W5 1.4 BRE 1.3 216 194 162 025 A S
AOVEF 3.1
7—ILA 0.6 5% [ 0.1 923 788 702 1] A 6
FDAOY 2.3 BERE 0.7 — 1,944 — gl A M
FLHE 9.1
ERRY 7.0 BERE 1.4 — 1,080 - 5[ a9 S
CEETLVH 2.1 BRE 1.7 — 4104 — 0] A 6
INFF 115 EYEY 11.3 4,320 2,991 2,948 15
NAFyFTIL 2.9 EYEY 2.9 3,240 2592 2,376 10 8
FoA4T)LY 1.7 —T 1.7 6,156 5,832 4,050 75 4
RERET 39.2




